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100cm 50cm 5cm 100cm 50cm 5cm

1 |RELIFET 0.09 0.12 0.18 21 (BEGEESRET 0.10 0.14 0.21

2 [HEELWTET 0.08 0.10 0.17 22 |RERMRYIES 0.09 0.09 0.10

3 |fMeBREAciER 0.35 0.62 3.27  |50cmIF3[E1EIE T H1E 23 |1[E 1 1HE%E 0.05 0.05 0.05

4 |HEEBEWET 0.09 0.11 0.30 24 |ARS A 1HRBE 0.06 0.05 0.06

5 |MENEERMET 0.09 0.11 0.27 25 |BEEmdEHkA 0.08 0.11 0.14

6 [FXRIEBEEEVELT| 0.10 0.15 0.34 26 |BLitEEHkO 0.07 0.11 0.17

7 |REBEMET 0.09 0.12 0.22 27 |BEdtHEkO 0.08 0.11 0.21

8 |REFEFEMERT 0.09 0.14 0.35 28 |BLAtE#EKO 0.08 0.11 0.17

9 |REFBEMET 0.08 0.10 0.22 29 |REHR 0.06 0.06 0.07

10 [F—I/LEadarkt 0.07 0.09 0.09 30 [F—ILEEZELEHEKO 0.04 0.04 0.06

11 |REMEEAE 0.10 0.12 0.13 31 |[RERMRDS 0.08 0.08 0.09

12 |[T—ILERERET 0.09 0.13 0.61 32

13 |RELEAE 0.08 0.10 0.14 33

14 |RERWHET 0.08 0.10 0.37 34

15 |(AEEERET 0.17 0.29 1.02  |50cmIE3[EAIE FH1E 35

16 |REFHER 0.23 0.36 0.68  |50cmIF3[E1HIE T H1E 36

17 |{AEREMRET 0.11 0.22 226  |50cmI3[EEIE T H1E 37

18 |*EREEZMAET 0.13 0.21 0.48 38

19 |[AEERRAE 0.10 0.15 0.28 39

20 |FE=/NEMET 0.08 0.09 0.20 40
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